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11.

Review Sheet: Final (Solutions)

9 1, 111,
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b) y = sin2z — x cos’ x + C cos z.

3
a) 0 <x <3, b)g<x<§.

! In2
a) Q(t) = 100e7 "Gt b) t = _Tnli—l days
50
/ 3 3
=-—— =10 Ib.
9
t=175 E minutes.
13
A . /
a) z(t) = —% - mTe*at +B, o) =1(t)
2 291 .
a) v==+4/vi —29R + where R = radius of the earth,
R+z

/ § 7

1
a) B +ay? =C, b) iy + §x2y2 =C.

PN

b) Ca? = (y — 4x)i(y + 2)1.



12.
a) Linearly Independent,  b) Linearly Dependent.

13.
No.
14.
) 10 , 2 + 2 . 5 |
= — —e”sin =— .
@) y = g€ c0s2r+ fpesin2r, y £ e
15.
. 3 . . .
a) y = —381nx0082x+5ln]cscx—cotx\sm2x+3cos:vsm2x+cl cOS 22 + ¢ sin 2z,
1 5 1 4
b) y = Zw(lnx) - Z:Ulnx + 1 + cox .
16. 1 ]
a) z(t) = = cos(8V/3t) — —— sin(8v/3t )
) x(t) = ¢ cos(8V3t) 573 (8v3t)
b) period = \/21%2 seconds, amplitude = /22 feet, phase = —tan™ (%) radians.
17.
w = 8V/3.
18.
OFO=a )t re( L)
2 —2 ’
b) ?@) cost T sint t/2
'\ —sint cost ’
c) Z(t) =c L) e + ¢ L) gy e
-1 -1 1
19.

o3t ot
CL) (I)(t) = ( 2€3t _26—1& ) )
- cost sint —t/2
b) (1) = ( —sint cost)e '

po0- ()

In all of the above e = ®(¢)®~1(0).

20.
z1(t) = 104+ 5% xy(t) =5 — 5e .



